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Review Stoichiometry
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For the following questionjthere is something wrong. Your job is to find out what is wrong and fix it.

The conversions below are incorrect. Re-write them so that they are correct.
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Iron can react with steam according to the following reaction: \

3F€(s) - 4H20(g) = 1FC3O4(S) a7 4H2(g)

In the 4 problems below, cross out any incorrect conversion factors and write what the correct conversion factor
would be. (The 999 at the beginning of each problem is not a conversion factor so leave it alone.)
Assume the temperature and pressure are S.T.P. You do not have to answer the problem.
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1. Balance the following reaction and answer the other questions:

a. _2_02”6(9) + Oz(g) L‘ Oz + LHzo(g)

b. Write five possible mole ratios.

c. If 3.00 moles of CzHLs?are burned, how many moles of COy, are produced‘7
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d. 1f2.34 grams f zHe(g) are burned how many gram of HZO(Q) are produc?:lfm
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e. If 2.56 graims of CO,, are produced, ho many Ilters f Hzo(g) are made at the same tlme if
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2. Balance the following reaction and answer the questiohs:

a. 2 H:0 + 2 Ozg > LHZSOM)
b. How many moles of H,O are needed to fom letely react 3.7 grams of SO,g?
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d. How many moles of H,SO., will be pﬁoduced if 13.7 moles of SO, are used up?
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3. How many grams of Hy(, are made when 3.45 moles of Na react according to the following equation?
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c. How many moles of 02(9) are needed to use
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2Na(s) + 2H20(]) > ZNEOH(aq) + Hz(g)
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Inventing appropriate conversion factors
CAeMis+ry: http://genest. we‘ébly .com

Stop in for help every day at lunch and Tues, Weds., &Thurs after school!
After-hours question? Email me at home: eagenest@madison.k12.wi.us
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Calculate the answer in each case, writing both number and correct UNIT. 3
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1 paperclip = 0.977 grams
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2. Using only the information above, fill in these conversion factors

1 box of paperclips =2~ dollars
1 box of paperclips = ' °©_paperclips
1 paperclip heart =_18 paperclips

3. Using only the Equalities above, fill in the missing conversion factors and calculate the answer.
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4. TImagine that 100. grams of aluminum and 100 grams of chlorine gas ( remember:
wacky 7 formula for the chlorine molecule...) react according to the following
stoichiometery
2A1(s) + 3C12(g) =5 2A]C]3(5)
Which reagent will be the limiting reagent? How many grams of AICl3will form?
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Step 1) Convert the mass of each reactant into moles of product
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Step 2) Both of your statements in Step 1 can’t be right. The one that will actually h\ppen is
the one that makes the least moles of product. Below this box write “The limiting reactant
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5. Use the same three steps you used on the example from class. Imagine that 67.00
grams of aluminum and 60.50 grams grams of chlorine gas react according to the
following stoichiometery
2Al(s) & 3C12(8) = 2A]C13(s)
Which reagent will be the limiting reagent? How many grams of AICl;will form?
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